Solutions for GeoWorkSheet No. 118

Solutions sheet No. 118

Cosine Rule - Find an Side 1 (degrees & minutes)

Working using a2 = b? + ¢? - 2bccosA°

No.la| b c A Equation Calculator Square root | Solution
1l a | 18 32| 103°22' |a? =182 + 322 - 2x18%32%c05103°22' a’=1614.322... |a=40.179... |a=40.2
2| b | 20 27| 69°16"' |b2 =202+ 272 - 2x20x27%c0s69°16' b? =746.659... b=27325... |b=273
3 c| 29 30| 49°30' |c? =292+ 302 - 2x29%30xc0s49°30' c2=610.96... c=24.718... |[c=24.7
4/ d | 16 18| 36°23' |d2=162+ 182- 2x16x18xc0s36°23' d>=116.282... d=10.783... |d=10.8
5/e | 11 12| 87°38' |e?2=11%2+122-2x11x12%xc0s87°38' e?=254.098... e=15.94... e=15.9
6| f | 15 16| 32°47' |f2=152+ 162 - 2x15x16xC0s32°47" f2=77.452... f=28.801... f=8.8
7/ g | 125 | 135| 43°28' |g?=125%+ 1352 - 2x125%x135%c0543°28' g>*=9355.103... [g=96.722... |g=96.7
8 h | 36 53| 63°41"' |h2 =362+ 53?2 - 2x36x53%c0s63°41' h>=2413.245... |h=49.125... |h=49.1
9/ i | 75 82| 33°14" |i2 =752+ 822 - 2x75%x82xc0s33°14' i2=2060.719... |i=45.395... [i=454

10| j 45 71| 72°19" |j2 =452+ 712 - 2x45x71%xc0572°19' J2=5125... j=71.589... [j=716
11| k | 22 27| 79°42' |Kk2 =222+ 272 - 2x22%x27xC0579°42' k?=1000.583... |k=31.632... |k=316
12 1 | 22 3.2] 46°5' |12=2.22+ 3.22- 2%2.2x3.2%c0546°5' I?=5314... | =2.305... =23

13| m | 6.6 8.4| 48°31' |m?=6.6%+ 8.42 - 2x6.6x8.4xc0s48°31' m? =40.673... m=6.378... |[m=64
14| n | 37 43| 83°22' |n?2=372+432-2x37x43xc0s83°22' n?>=2850.431... |n=53.389... |[n=53.4
15/ p | 75 8| 106°53' |p? =7.5%2 + 82 - 2x7.5x8%c05106°53' p>=155.101... p=12.454... |p=125
16/ g | 61 62| 35°42' |g2=612+ 622 - 2x61x62%xc0535°42' q>=14224... q=37.715... |q=377
17| r | 148 | 16.4| 79°54" |r2=14.82+ 16.4% - 2x14.8x16.4%xc0s79°54" |r>=402.87... r=20.072... [r=20.1
18| s | 185 | 200| 28°57' |s?=185%+ 20072 -2x185%200%c0s28°57" $2=9471.859... |s=97.323... |s=97.3
19| t | 8.6 | 11.2] 40°25' |t2=8.62+ 11.22-2x8.6%11.2xc0s40°25' t2=152.734... t="7.262... t=7.3

20 u | 4.9 5.1 43°46" |u2=4.92+5.12- 2x4.9x5,1xc0s43°46' u?=13.926... u=3.732... u=37




